Ref. No. GH/AR. III/ACE/09/Tender/ 40935-63

-/:

23rd Mar. 2009

## NOTICE INVITING TENDER.

Sealed tender in two parts(Part-I & II) are invited from experienced and eligible cantractors for the following work:-

(Estimated Sarnest) Cost of (Time of ) Cost(In %.) Money. I tender (comple-S1% Name of work No. % paper. (tion.

1. Pvoding and laying of 6" dla 11,47,516.80 1% 18.500/- 15months 130m DI pipe from Estiband to 1 seam water tank to solve domestic water problem of Tila-tand hospital/Tilatand Colony and other colonies of Akashkinaree.

1. AVAILABILITY OF TENDER DOCUMENT: The tender documents can be had from the office of the General Manager, Govindpur Area Civil Deptt. from 6.4.09 to 22.4.2009 on deposition of requisite cest of tender paper in eash or bankdraft of Nationalised Bank drawn in favour of Bharat Coking Coal Limited payable at Dhanbad during office hours on all working days.

2. Receipt and submission of tender-The tender will be received on 27.4.09 up to 3.00 PM at CISF Post near Koyla Bhawan Gate, Koyla Nagar, BCCL, Dhanbad. Sealed tender documents (Part-I & II) complete in all respect should be submitted as follows:-

Part-I: shall consist of terms and conditions of the tender, additional terms and onditions if any, technical bi, and tender's credential & sealed in a envelope scribing as Part-I. Part-II shall consist of tender documents as sold to the tenders duly filled in for rates, amounts etc.i.e price bid and sealed in a envelope scribing as Part-II. Similarly the Earnest money deposit is to be submitted in a enwelope super scribing as "Eastnest Money Deposit" and not inside the envelope containing Part-I or Part-II of the Bid. Thereafter all the three envelopes should be submitted in a sealed envelpe with appropriate superscrption.

3.0 Opening of Tender: The Part-I only of the tenders will be opened at 4.00 PM on 28.4.09 itself in presence of the intending tenderers or their authorised representative in the Office of the General Manager, Civil Deptt. Bilbera House, Govindpur Area and the part-II will be opened only after acceptance of Part-I.

In the event of the specified date for submission opening of bids being declared a holiday the bids will be received/opened on the appointed time on the next working day.

4. Eligibility criteria:

a) The intending tender must have in its name as a prime contractor or as a sub-contractorprovided there is sub-contract provision in the original cont act awarded to the prime contractor, experience of having successfully completed similar works during last (Seven) years ending last day of month previous to the one in which bid applications are invited (i.e eligibility period) should be either of the following:-

Three similar completed works each costing not less than the amount equal to 40% of theestimated cost.OR two similar completed works each costing not less than the amount equal to 50% of the estimated cost OR one similar completed work costing not less than the amount equal to 80% of the estimated cost.

Similar work means: Water supply works involving laying of Pipe Line.

b) Average annual financial turnover of civil works during the last 3(three) years ending 31st March of the previous financal year should be at least 30% of the estimated cost.

A-16-Saivaslar Contd..2

The intending tender must submit documentary evidence in support of (4) (a) & (b) above in all the form of dertified copy of work order completion certificate payment certificates vouchers etc.indicating the period of work for which the payment has been made duly signed by him /them.

The earnest money is to be deposited as per details c) in the tender documents.

d)Sales tax clearance certificate copy attested by a Gazatted Officer of the Govt./Central or State) andTIN No.

e) The tenders / have to submit Permanent Account No. of Income Tax(PAN No.)

5.Conditional tenders will not be accepted.

6. Issu. ance of tender documents does not mean that the parties are considered qualified.

.The validity of the tender will be 120 days from the date of open-ing price bid or revised price bid if any,

8. The management of BCCL reserves right to reject any or all tender or spilt the work among two or more tenderers with out assigning any reason whatsoever.

y. Other details may be obtained from detailed tender notice/tender documents website nttp/bccl.empdi.co.1h.

10. In case of down loaded tenner documents

- a) Tenderers are required to deposit along with their tender, a Bank Draft of any Nationalised Schedule Commercial Bank payable at Dhanbad exclusively towards, the cost of Tender Document for the amount indicated as above, in a separate envelope. Bank Draft prepared after the schedule closure of sale of Tender Documents i.e22.04.09 may be liable for rejection.
- 11) The contents of the Tender Documents available in our offices, shall be deemed as authentic. The bider will be required to submit an undertaking that they will accept the tender documents as available in the website and their tender shall be rejected if any tempering is there in the tender document thus submitted.

Area Civil Engineer Govindpur Area.

cc to:Addl.General Manager,Govingpur Area.

cc to: AFM/All Project Officer, Govidpur Area.

cc to:CGM/GM Area 1 to 12.EJ Area, WJ Area, WNZ Ropeways. cc to:GM(Construction), Koyla Bnawan

cc to:Notice Board.

cc to:Builders Association of India, 10 LIC Housing Colony, Dnanbad/ Near Akashkinaree Weigh Bridge, PO. Katrasgarh.

ce to:CVO,BCCL,Koyla Bnawan

cc to:GM(System)/PRO,BCCL, Koyla Bhawan

## Bill of Quantity for the work of "Providing and laying of 6" dia 1300m DI pipe from Satibandh to 1 seam water tank to solve domestic water problem of Tilatand hospital, Tilatand Colony and other colonies of Akashkinaree"

SI. No.	Particulars of the work	Unit of Qnty.	Estimated Qnty. of Work	B.C.C.L scheduled rates	Amount (in Rs.)
1.	Excavating trenches for pipes, of required width and upto depth 1.5m.  a) All kinds of soil as per specification.	m	1300.00	95.55	124215.00
2.	Providing and laying S&S  eentrifugaly (spun)/ ductile Iron pipe conforming to I.S. 8329 as per specification (.50mm dia K- 7 peipes).	m	1300.00	707.40	919620.00
3.	Providing push on joints to centrifugally (pun) ductile iron pipe including testing of joints and including the cost of rubber gasket as per specification.	No.	260	46.90	12194.00
4.	Providing and fixing CI double acting air valve of approved quality with bolts, nuts, rubber insertions etc. complete.	No.	3	4753.50	14260.50
5.	Providing and laying S&S standard specials suitable for mechanical job as per I.S. 133S2 as per specification.	Quintal	11,00	4374.05	48114.55

	veni	(Elev)	Total (Rs.)		11,47,516.80
	50.				
	specification with brick class-				
	(1:6) complete job as per				
	inside with brick work in cm				
	chamber 120x120x100cm		140		
7.	Constructing massonary	Each	3 (	5061.45	15184.35
	b) 100 mm	Each	2 (	2147.45	4294.90
	a) 150mm	Each	3	, 3211.20	9633.60
	(the tail piece if required).				
	bolts nuts rubber insertions etc.				
	Providing and fixing CI sluice valve (with cap) complete with				

Note: Add \_\_\_\_\_% above/below from the estimated Cost.

A-IL-Shiwadawa 2-3-3-09 Area Civil Engineer Govindpur Area

Signature of the Contractor